INCOMPLETE PENETRATION

Incomplete penetration

Ineomplate penetration ooours when the greove of the metal iz not filled complately, meaning the weld metal
doesrt fully extend through the point thickness,

Causes:

Ther: was too much space between the metal you're welding together.

eu're mrvorving the bead too quickly, which deesrt allow encugh metsl to be deposited in the joint.

eru're using & tod bow amperage setting, which resulls in the current not being strong enough to properly
rriele the rretal

Large electrode dianmeter.

Misaligrrrent.

frmpraper joint.

Remedies:

ze proper joint geometr.
Use a properly sized electrode.
Feduce arc travel speed.
Choase proper welding current.
Check for proper alignment.



